2 3 b 5 6 L 8
A
Cover screw ST2,2 X 12,0
1 cable entry - Type H philips
/ Screw for cable clamp ST2,2
& O i ~ Type H philips
f =)
| B
1 U | | Cable clamp
25
315 Thread size
) (Optional) |
Screw type —
(Optional) /=.-./'
Min. 3,3 ] \—,.‘L-l'—” F
Max. 7.5 \\\\\“‘-ﬂﬁa“ 01
'— C
<
Screw fype
(Optional)
- - Ring Content D-Sub hood Spare parts (M0Q100)
Ring _ _ Pos.  |Quantity |Description Part Number Quantity |D
N 01 1 Bottom hood
- o o . = o, = 02 1 Top cover
“ - a a 03 2 Locking screw:(Preassembled)
= = - either slotted cheese head short locking screw 4-40 UNC( for |
| 0967 009 0442 160)
or slotted cheese head short locking screw M3(for 0967 009
{(O”cl:(:LEdsltor”egw Knurled long Slotted cheese head hSlcatt'[edtheese he:LdN[ 0482 160)
ONC Lt locking screw M3 short locking screw M3 [ 3" ' Z“%OSWW or_knurled long locking screw &-40 UNC(for 0967 009 0432 160)
or knurled long locking screw M3(for 0967 009 0492 160) :
0L 2 Cover screw ST2,2
05 2 Clamp screw ST2,2 0967 000 9944 1
06 1 Cable clamp 0967 000 9942 1
09 67 009 04X2 160 All Dimensions in mm Scale Free size tol. Ref. |
09 67 009 0492 160 ot locking <cren With ring D voiin | 1 _ w
09 67 009 0&32 160 l+—l+0 UN[ g g Wlfhouf I‘Ing A All FIghfS FESEFVEd Egﬁﬁa[}'ed by ||_TJBEe[fEd by %Ea;&ardlsahon [2][5)1;; 01 21 ?fafe
HARTING -01- inal Release
09 67 009 0482 160 Short locki With ring N | Ocpariment | pp e . . . DotKey / ECHNT.
09 67 009 0642 160 | 4-40 UNC Ort fotking screw Without ring - D-Sub plastic hood 9-pole with locking screws BLGEEL/UEOI0 |
. Identification for Type Number Rev. Page
Part number Screw size Screw type locking screw D-32339 Espelkamp TB 09670090LX2160 A 1/1
| 2 | 3 4 5 6 | ? | 8
A3



